ZU0O

ITEM NAME/NOM D'ITEM: SOLEIL DINING TABLE
ITEM #/NO. ITEM: 704037/ 704038/ 704039

PARTS LIST/LISTE DES PIECES

(1) (2) (S) (6)
A @ DD B
@ = M8*75 x3| M8*30 x3
C D
x1 x1 @ 6 6
M8 x M8 x
(3) (4) E Pre-installed F Pre-installed
S
= =
' - O M6* 18 x4 M6 x4
\ G Pre-installed H [N
x1 x1 x1 x4 M5 x1

ASSEMBLY INSTRUCTIONS/INSTRUCTIONS D'ASSEMBLAGE

I II

Unscrew (E,F,G) E
using (H) to release E/ =
(2) from table top (1) @/G

Cy

()

111 fH %

For missing parts or damaged parts, please call / USA, Canada and Mexico: (866)-798-6663
Pour piéce manquante ou endommagée, veuillez appeler:

AI-V1-231206



